
DS n°1: Logique, Ensembles et Raisonnement

0,5 -0,25

0 V F V F V F V F V F V F V F a b a b c a b a b c

1 0 2 0 2 0 5 0 4 0 2 0 2 0 3 3 1 8 3 3 1 2 1 3 4 4 2 2 1 1 2 4 4 61

20 9 7 8 - 21 16 150
CARDELL Luna 4 21 1 1 1 4 3 1 1 6 2 0 2 3 3 1 1,5 0 0,5 1 0 0 0 4 0 0 1 0 0 0 0 1 16
CARNICELLI Shawn 5 18 1 1 1 4 4 2 1 7 0 0 0 0 5 5 0 0 1 1,5 0 0 0 0 2,5 1 2 1 0,5 0 0 0 4,5 19
CHARDON Heremoana 10 4 1 1 1 5 4 2 1 7,5 3 3 1 7 6 6 4 1 1 2 1 1,5 0 0 10,5 2 0 1 0 0 0 0 3 34
CORDIER Nathan 5,5 17 1 2 1 3 4 2 1 6,5 0 3 0 3 0 0 1,5 0 1 1,5 1 1 0 0 6 0,5 0 1 0,5 2 0 0 4 20
DE GAILLANDE Nathan 8 7 1 1 1 3 4 2 1 6,5 0 1 1 2 2 2 3 2 1 2 1 0 0 0 9 2 0 1 1 2 0 0 6 26
DORR Jade 7 9 1 2 2 5 4 2 2 8 0 0 1 1 5 5 4 0,5 0 0 1 0 0 0 5,5 1 0 1 0 0 2 0 4 24
DOS SANTOS Anthony 18 1 1 2 2 4 4 2 1 8 3 3 1 7 8 8 3 3 1 2 1 3 4 0 17 1 2 1 1 2 4 4 15 55
FERNILLOT Raphaël 6 13 1 1 2 3 4 1 2 2 1 7 0 0 0 0 6 6 4 1 0 0 0 0 0 0 5 2 0 1 0 0 0 0 3 21
FOLZ Hans 7 9 1 2 2 3 4 2 1 7 0 0 1 1 4 4 4 1 1 2 0 0 0 0 8 0 0 1 0,5 2 0 0 3,5 24
GUENNOU Tristan 3,5 24 1 1 3 3 2 1 1 1 3,75 0 0 0 0 2 2 3 0 0 0 0 0 0 0 3 0 2 1 0 0 0 0 3 12
LAIGNEL Tyfenn 3 26 1 1 2 4 3 2 1 6,5 0 0 0,5 0,5 4 4 0 0 0 0 0 0 0 0 0 0 0 1 1 0 0 0 2 13
LAINE DEPUILLE Zelie 4 21 1 1 1 4 4 2 1 6,5 0 3 0,5 3,5 7 7 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 1 18
LE GUILLOU Amaury 4 21 1 2 2 4 3 2 2 1 7 0 2 0 2 2 2 0 0 0 0 0 0 0 0 0 2 2 0 1 0 0 0 5 16
LEFEVRE Gaspard 6 13 1 1 1 2 5 4 2 1 7,75 0 2 1 3 4 4 3 3 1 1 0 0 0 0 8 0 0 0 0 0 0 0 0 23
LEVREL--BERNARD Angara 3,5 24 1 1 2 4 4 2 1 7,5 0 0 0 0 2 2 4 0 0 0 0 0 0 0 4 0 0 1 0 0 0 0 1 15
LUVANT Alida 6,5 12 1 1 2 5 3 2 1 7,5 0 0 1 1 7 7 0,5 2 1 1 1 0 0 0 5,5 2 0 1 0 0 0 0 3 24
MAZALOUBEAUX--DURAND Laura 3 26 1 2 2 3 2 2 2 1 6 0 0 0 0 2 2 0 0 0 0 0 0 0 0 0 0 0 1 1 2 0 0 4 12
MEYZA Quentin 4,5 19 1 1 1 4 4 2 6,5 0 0 1 1 5 5 0 0 0 0,5 1 0 0 0 1,5 1 2 1 0 0 0 0 4 18
NATIELLO--MENKES Gabriel 9 5 1 1 2 5 4 2 1 8 0 3 1 4 7 7 0,5 1 1 2 1 3 0 0 8,5 1 0 0 0,5 2 0 0 3,5 31
PANOL--GEORGES Raphaël 10,5 3 1 2 1 5 4 2 2 8,5 0 0 0 0 8 8 1 3 1 2 1 3 1 0 12 0 0 1 1 2 0 2 6 35
RIVATON Charles 7,5 8 1 1 1 1 4 4 2 2 7,25 0 3 0,5 3,5 7 7 0 1,5 1 2 1 0 0 2 7,5 1 0 0 0,5 0 0 0 1,5 27
ROBERT Julie 6 13 1 1 1 5 3 2 1 7 1 3 0,5 4,5 1 1 0 1 1 2 1 1 0 0 6 2 0 1 0 0 0 0 3 22
ROPARS Aritz 12 2 1 2 2 5 4 2 1 8,5 0 0 1 1 8 8 3 2 0 2 1 3 1 0 12 2 2 1 1 2 1 0 9 39
SARIMAN Evans 7 9 1 1 2 4 3 1 1 1 6,25 0 0 0 0 4 4 3 2,5 1 2 1 0,5 0 0 10 1 0 1 1 0 0 0 3 23
SEGUIN Raphaël 9 5 1 2 1 4 4 2 1 7,5 0 3 1 4 6 6 1 2,5 1 2 1 0 0 0 7,5 2 0 1 1 2 0 0 6 31
SOLLIER Emma 6 13 1 1 5 4 1 2 6,25 0,5 0 1 1,5 7 7 0 3 0 2 0 0 0 0 5 1 0 1 0 0 0 0 2 22
THOMAS Maneck 4,5 19 1 1 2 3 2 1 2 1 5,75 0,5 3 0 3,5 2 2 1 1 1 2 0 0 0 0 5 0 0 0 0 0 0 0 0 16
VAN WAEREBEKE Godefroy 2 29 1 1 1 3 3 1 1 1 4,25 0 0 0 0 1 1 1 0 0 0 0 0 0 1 0 2 0 0 0 0 0 2 8,3
WABETE Lucie 3 26 1 2 2 3 1 1 1 4,75 0 0 0 0 3 3 0 0 0 2 0 1 0 0 3 0 0 1 0 0 0 0 1 12

100,0% 66,0% 77,8% 79,3% 88,8% 91,4% 59,1% 75,3% 9,5% 39,1% 48,3% 27,6% 55,2% 55,2% 53,0% 38,5% 51,7% 58,6% 51,7% 19,5% 5,2% 1,7% 27,4% 42,2% 24,1% 79,3% 39,7% 31,0% 6,0% 5,2% 22,4% 36,8%

Moyenne 6,38

Note max 18

Note min 2

Ecart-type 3,34

Q1 4

Me 6

Q3 7,5
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La formule pour le calcul de la moyenne: =(S9+W9*2+Y9*2+AH9*3+AP9*3)*20/$AQ$9
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Réponse fausse:Réponse correcte
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